
Learn฀along฀with

www.mathswrap.co.uk

Wrap it! Flip it! Check it!
How฀to฀use฀your฀Maths฀Wrap

Maths฀Wrap฀will฀help฀you฀to฀learn฀your฀
multiplication฀tables฀-฀try฀to฀use฀it฀every฀day!

Choose฀the฀times฀table฀you฀are฀going฀to฀
work฀on.

Slip฀it฀into฀the฀left฀hand฀side฀slot.

Wind฀the฀cord฀around฀the฀Maths฀Wrap฀
so฀that฀you฀link฀all฀the฀questions฀to฀their฀
corresponding฀answers.

If฀all฀your฀answers฀are฀correct,฀the฀cord฀will฀
match฀with฀the฀lines฀on฀the฀rear฀of฀the฀card.

Well฀done฀-฀now฀try฀the฀next฀times฀table!
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A QUARTET OF FASCINATING FACTS

•฀฀The฀word฀‘four’฀has฀four฀letters.฀It’s฀the฀only฀number฀in฀฀
the฀English฀language฀whose฀value฀is฀equal฀to฀the฀number฀
of฀letters.฀In฀Spanish฀the฀word฀for฀number฀5฀“cinco”฀has฀฀
5฀letters.฀Do฀you฀know฀any฀others?

•฀If฀you฀multiply฀21978฀by฀4฀it฀turns฀backwards!

•฀฀The฀word฀“forty”฀is฀the฀only฀number฀that฀has฀its฀letters฀in฀
alphabetical฀order.

•฀
2฀+฀2฀=฀4
2฀x฀2฀=฀4
22฀=฀4

USE YOUR MATHS WRAP TO LEARN SIX!

TRY THIS WITH YOUR FRIENDS!

3฀is฀a฀very฀odd฀number...it’s฀a฀prime฀number฀and฀can฀only฀฀
be฀divided฀by฀itself฀or฀1.

Tri฀-฀means฀three...So฀฀
triangles฀have฀3฀sides,฀฀
tripods฀have฀3฀legs฀฀
and฀the฀dinosaur฀฀
triceratops฀had฀3฀horns.

The฀French฀flag฀is฀a฀‘tricolore’฀฀
because฀it฀has฀3฀colours.

Trigonometry฀is฀a฀branch฀of฀mathematics฀based฀฀
on฀measuring฀triangles.

Think฀of฀a฀number.฀Double฀it.฀Add฀six.฀Divide฀your฀answer฀by฀
2.฀Now฀take฀away฀the฀number฀you฀first฀thought฀of.฀฀
The฀number฀left฀is฀now...฀three฀

How฀does฀this฀work?฀Ask฀your฀teacher฀
about฀a฀fantastic฀mathematical฀method฀
called฀“algebra.”

CAN YOU SOLVE THESE TWO 

PUZZLES IN DOUBLE QUICK TIME?

TRY THIS WITH YOUR FRIENDS!

•฀฀Pick฀any฀2฀digit฀number฀e.g.฀49

•฀฀Multiply฀by฀3฀•฀Multiply฀by฀7฀•฀Multiply฀by฀13฀•฀Multiply฀by฀37

•฀฀The฀final฀answer฀will฀be฀the฀original฀number฀written฀out฀three฀
times!฀(so฀49x3x7x13x37=฀494949)

•฀฀Try฀11฀or฀32฀or฀57฀-฀they฀all฀work!

DID YOU KNOW?

1฀x฀9฀+฀2฀=฀11฀
12฀x฀9฀+฀3฀=฀111฀
123฀x฀9฀+฀4฀=฀1111

And฀so฀on...฀go฀on,฀try฀it฀for฀yourself!฀
How฀far฀can฀you฀go?

A฀googol฀is฀a฀1฀followed฀by฀100฀zeros.฀That’s:
100000000000000000000000000000000000000000000
00000000000000000000000000000000000000000000
000000000000

The฀word฀“googol”฀was฀suggested฀by฀a฀nine฀year฀old฀
called฀Milton฀Sinotta.฀What฀would฀you฀have฀called฀it?฀฀
Post฀your฀answers฀on฀mathswrap.co.uk฀-฀a฀prize฀for฀the฀
best฀answer.

If฀you฀add฀up฀the฀numbers฀฀
1-100฀sequentially฀฀
(e.g.฀1+2+3+4+5+6+7...and฀so฀on)฀
...the฀answer฀will฀be฀5050.฀

There’s฀loads฀more฀facts฀on฀
mathswrap.co.uk฀for฀you฀to฀amaze฀
your฀friends!



฀1฀฀฀x฀฀1฀฀=฀฀1
฀2฀฀฀x฀฀1฀฀=฀฀2
฀3฀฀฀x฀฀1฀฀=฀฀3
฀4฀฀฀x฀฀1฀฀=฀฀4
฀5฀฀฀x฀฀1฀฀=฀฀5
฀6฀฀฀x฀฀1฀฀=฀฀6

฀7฀฀฀x฀฀1฀฀=฀฀7
฀8฀฀฀x฀฀1฀฀=฀฀8
฀9฀฀฀x฀฀1฀฀=฀฀9
฀10฀฀฀x฀฀1฀฀=฀฀10
฀11฀฀฀x฀฀1฀฀=฀฀11
฀12฀฀฀x฀฀1฀฀=฀฀12

฀1฀฀฀x฀฀4฀฀=฀฀4
฀2฀฀฀x฀฀4฀฀=฀฀8
฀3฀฀฀x฀฀4฀฀=฀฀12
฀4฀฀฀x฀฀4฀฀=฀฀16
฀5฀฀฀x฀฀4฀฀=฀฀20
฀6฀฀฀x฀฀4฀฀=฀฀24

฀7฀฀฀x฀฀4฀฀=฀฀28
฀8฀฀฀x฀฀4฀฀=฀฀32
฀9฀฀฀x฀฀4฀฀=฀฀36
฀10฀฀฀x฀฀4฀฀=฀฀40
฀11฀฀฀x฀฀4฀฀=฀฀44
฀12฀฀฀x฀฀4฀฀=฀฀48

฀1฀฀฀x฀฀7฀฀=฀฀7
฀2฀฀฀x฀฀7฀฀=฀฀14
฀3฀฀฀x฀฀7฀฀=฀฀21
฀4฀฀฀x฀฀7฀฀=฀฀28
฀5฀฀฀x฀฀7฀฀=฀฀35
฀6฀฀฀x฀฀7฀฀=฀฀42

฀7฀฀฀x฀฀7฀฀=฀฀49
฀8฀฀฀x฀฀7฀฀=฀฀56
฀9฀฀฀x฀฀7฀฀=฀฀63
฀10฀฀฀x฀฀7฀฀=฀฀70
฀11฀฀฀x฀฀7฀฀=฀฀77
฀12฀฀฀x฀฀7฀฀=฀฀84

฀1฀฀฀x฀฀10฀฀=฀฀10
฀2฀฀฀x฀฀10฀฀=฀฀20
฀3฀฀฀x฀฀10฀฀=฀฀30
฀4฀฀฀x฀฀10฀฀=฀฀40
฀5฀฀฀x฀฀10฀฀=฀฀50
฀6฀฀฀x฀฀10฀฀=฀฀60

฀7฀฀฀x฀฀10฀฀=฀฀70
฀8฀฀฀x฀฀10฀฀=฀฀80
฀9฀฀฀x฀฀10฀฀=฀฀90
฀10฀฀฀x฀฀10฀฀=฀฀100
฀11฀฀฀x฀฀10฀฀=฀฀110
฀12฀฀฀x฀฀10฀฀=฀฀120

฀1฀฀฀x฀฀2฀฀=฀฀2
฀2฀฀฀x฀฀2฀฀=฀฀4
฀3฀฀฀x฀฀2฀฀=฀฀6
฀4฀฀฀x฀฀2฀฀=฀฀8
฀5฀฀฀x฀฀2฀฀=฀฀10
฀6฀฀฀x฀฀2฀฀=฀฀12

฀7฀฀฀x฀฀2฀฀=฀฀14
฀8฀฀฀x฀฀2฀฀=฀฀16
฀9฀฀฀x฀฀2฀฀=฀฀18
฀10฀฀฀x฀฀2฀฀=฀฀20
฀11฀฀฀x฀฀2฀฀=฀฀22
฀12฀฀฀x฀฀2฀฀=฀฀24

฀1฀฀฀x฀฀5฀฀=฀฀5
฀2฀฀฀x฀฀5฀฀=฀฀10
฀3฀฀฀x฀฀5฀฀=฀฀15
฀4฀฀฀x฀฀5฀฀=฀฀20
฀5฀฀฀x฀฀5฀฀=฀฀25
฀6฀฀฀x฀฀5฀฀=฀฀30

฀7฀฀฀x฀฀5฀฀=฀฀35
฀8฀฀฀x฀฀5฀฀=฀฀40
฀9฀฀฀x฀฀5฀฀=฀฀45
฀10฀฀฀x฀฀5฀฀=฀฀50
฀11฀฀฀x฀฀5฀฀=฀฀55
฀12฀฀฀x฀฀5฀฀=฀฀60

฀1฀฀฀x฀฀8฀฀=฀฀8
฀2฀฀฀x฀฀8฀฀=฀฀16
฀3฀฀฀x฀฀8฀฀=฀฀24
฀4฀฀฀x฀฀8฀฀=฀฀32
฀5฀฀฀x฀฀8฀฀=฀฀40
฀6฀฀฀x฀฀8฀฀=฀฀48

฀7฀฀฀x฀฀8฀฀=฀฀56
฀8฀฀฀x฀฀8฀฀=฀฀64
฀9฀฀฀x฀฀8฀฀=฀฀72
฀10฀฀฀x฀฀8฀฀=฀฀80
฀11฀฀฀x฀฀8฀฀=฀฀88
฀12฀฀฀x฀฀8฀฀=฀฀96

฀1฀฀฀x฀฀11฀฀=฀฀11
฀2฀฀฀x฀฀11฀฀=฀฀22
฀3฀฀฀x฀฀11฀฀=฀฀33
฀4฀฀฀x฀฀11฀฀=฀฀44
฀5฀฀฀x฀฀11฀฀=฀฀55
฀6฀฀฀x฀฀11฀฀=฀฀66

฀7฀฀฀x฀฀11฀฀=฀฀77
฀8฀฀฀x฀฀11฀฀=฀฀88
฀9฀฀฀x฀฀11฀฀=฀฀99
฀10฀฀฀x฀฀11฀฀=฀฀110
฀11฀฀฀x฀฀11฀฀=฀฀121
฀12฀฀฀x฀฀11฀฀=฀฀132

฀1฀฀฀x฀฀3฀฀=฀฀3
฀2฀฀฀x฀฀3฀฀=฀฀6
฀3฀฀฀x฀฀3฀฀=฀฀9
฀4฀฀฀x฀฀3฀฀=฀฀12
฀5฀฀฀x฀฀3฀฀=฀฀15
฀6฀฀฀x฀฀3฀฀=฀฀18

฀7฀฀฀x฀฀3฀฀=฀฀21
฀8฀฀฀x฀฀3฀฀=฀฀24
฀9฀฀฀x฀฀3฀฀=฀฀27
฀10฀฀฀x฀฀3฀฀=฀฀30
฀11฀฀฀x฀฀3฀฀=฀฀33
฀12฀฀฀x฀฀3฀฀=฀฀36

฀1฀฀฀x฀฀6฀฀=฀฀6
฀2฀฀฀x฀฀6฀฀=฀฀12
฀3฀฀฀x฀฀6฀฀=฀฀18
฀4฀฀฀x฀฀6฀฀=฀฀24
฀5฀฀฀x฀฀6฀฀=฀฀30
฀6฀฀฀x฀฀6฀฀=฀฀36

฀7฀฀฀x฀฀6฀฀=฀฀42
฀8฀฀฀x฀฀6฀฀=฀฀48
฀9฀฀฀x฀฀6฀฀=฀฀54
฀10฀฀฀x฀฀6฀฀=฀฀60
฀11฀฀฀x฀฀6฀฀=฀฀66
฀12฀฀฀x฀฀6฀฀=฀฀72

฀1฀฀฀x฀฀9฀฀=฀฀9
฀2฀฀฀x฀฀9฀฀=฀฀18
฀3฀฀฀x฀฀9฀฀=฀฀27
฀4฀฀฀x฀฀9฀฀=฀฀36
฀5฀฀฀x฀฀9฀฀=฀฀45
฀6฀฀฀x฀฀9฀฀=฀฀54

฀7฀฀฀x฀฀9฀฀=฀฀63
฀8฀฀฀x฀฀9฀฀=฀฀72
฀9฀฀฀x฀฀9฀฀=฀฀81
฀10฀฀฀x฀฀9฀฀=฀฀90
฀11฀฀฀x฀฀9฀฀=฀฀99
฀12฀฀฀x฀฀9฀฀=฀฀108

฀1฀฀฀x฀฀12฀฀=฀฀12
฀2฀฀฀x฀฀12฀฀=฀฀24
฀3฀฀฀x฀฀12฀฀=฀฀36
฀4฀฀฀x฀฀12฀฀=฀฀48
฀5฀฀฀x฀฀12฀฀=฀฀60
฀6฀฀฀x฀฀12฀฀=฀฀72

฀7฀฀฀x฀฀12฀฀=฀฀84
฀8฀฀฀x฀฀12฀฀=฀฀96
฀9฀฀฀x฀฀12฀฀=฀฀108
฀10฀฀฀x฀฀12฀฀=฀฀120
฀11฀฀฀x฀฀12฀฀=฀฀132
฀12฀฀฀x฀฀12฀฀=฀฀144

Don’t฀forget,฀you฀can฀get฀hints,฀tips฀and฀a฀full฀demonstration฀on฀the฀Maths฀Wrap฀website:฀www.mathswrap.co.uk
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ACROSS:
1)฀A฀5-pointed฀star฀4)฀5฀fingers฀and฀5...?฀6)฀A฀pentagon฀has฀฀
5฀of฀these.

DOWN:
1)฀Athletics฀contest฀with฀5฀events฀2)฀There฀are฀5฀of฀these฀in฀the฀฀
Olympic฀symbol฀3)฀The฀fifth฀month฀of฀the฀year฀5)฀Taste฀is฀just฀one฀
of฀these?฀7)฀2฀x฀5฀=฀?

•฀฀1,฀2฀and฀3฀make฀6฀whether฀you฀add฀them฀together฀or฀฀
multiply฀them.

•฀King฀Henry฀VIII฀had฀six฀wives

•฀฀Here’s฀a฀cool฀mathematical฀trick...

e.g.฀if฀you฀start฀with฀532฀(three฀digits,฀
reversing฀order),฀then฀the฀reverse฀is฀235.฀
Subtract฀532-235฀to฀get฀297.฀฀
Now฀add฀297฀and฀its฀reverse฀792,฀฀
and฀you’ll฀get฀1089.

Ask฀different฀people฀to฀give฀you฀any฀number฀between฀one฀
and฀nine,฀and฀most฀will฀choose฀seven.฀Ask฀people฀to฀name฀
their฀favourite฀number฀between฀one฀and฀ten,฀and฀again฀most฀
will฀say฀seven.฀

Why฀not฀try฀a฀bar฀chart฀like฀this?฀Do฀you฀agree฀with฀
ours?฀Send฀your฀results฀to฀mathswrap.co.uk฀–฀get฀your฀
investigation฀published!

•฀฀You฀can฀split฀a฀pie฀into฀8฀pieces฀with฀3฀straight฀cuts...how?฀
(Go฀on,฀try฀it฀for฀yourself,฀but฀not฀with฀a฀real฀pie!)

•฀฀The฀Yuki฀people฀of฀Northern฀California,฀USA฀used฀the฀฀
8฀spaces฀between฀their฀fingers฀to฀count฀and฀invented฀the฀
octal฀system฀(we฀use฀the฀10฀fingered฀decimal).

•฀8฀is฀considered฀a฀lucky฀number฀in฀China.

1฀x฀8฀+฀1฀=฀9
12฀x฀8฀+฀2฀=฀98
123฀x฀8฀+฀3฀=฀987
1234฀x฀8฀+฀4฀=฀????
12345฀x฀8฀+฀5฀=฀?????
Can฀you฀work฀all฀these฀out?฀฀
Try฀going฀all฀the฀way฀to฀the฀end!

There฀are฀three฀kinds฀of฀
mathematicians...฀those฀who฀can฀
count฀and฀those฀who฀can’t.

Q:฀What฀did฀0฀say฀to฀8?
A:฀Nice฀belt!

USE YOUR MATHS WRAP TO LEARN SIX!

Write฀down฀a฀three฀digit฀number฀whose฀digits฀are฀
decreasing.฀Then฀reverse฀the฀digits฀to฀create฀a฀new฀
number,฀and฀subtract฀this฀number฀from฀the฀original฀number.฀
With฀the฀resulting฀number,฀add฀it฀to฀the฀reverse฀of฀itself.

The number you get is 1089!


